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1. For the following system, when the input voltage is v;(f)=25(:) V , the output is
v,(£) =10e™ ~6e™* V. Find the output when the input is v,(¢) = 4e™"u(f) V. (10%)
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2. The  voltage and current at  the  terminals of a circuit are
v(f) = 80+120cos1207¢ + 60 cos(360xrt—~30°) V
i(t) =5co0s(1207¢ —10°) + 2 cos(360x ¢ — 60°) A
Find the average power absorbed by the circuit. (10%)

3. Obtain the transfer function H(s) =V, (s)/V,(s) for the following circuit. (10%)
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4. In the following circuit, i(¥) =10sint A . Calculate the value of C such that v(f) =V, sint V.
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5. Determine the 4 parameters for the following circuit. (10%)
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6. Determine the voltage ¥V, in the circuit. (10%)
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7. When connected to a 120V (rms), 60Hz power line, a load absorbs 4kW at a lagging power
factor of 0.8. Find the value of capacitance necessary to raise the PF to 0.95. (10%)

8. Determine the Thevenin equivalent of the following circuit. (10%)

ixl-

2, 402 20

o

o b

9. Consider the Wheatstone bridge shown in the following circuit. CalculateV,, . (10%)
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